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Q2. (14 pts) Consider the polar curve C: r= f(6) = cos26, —% <@ < % G

a) Sketch the curve.
b) Find the integral for the area enclosed by the curve (do not evaluate).

c) Setup an integral for the arc-length of the curve.

- ?fq Jm de

f‘ﬂ/q




o

e

2
-

W:" Ful Ht avea soside kb carol Y= 1+ £ aud
= @ﬁu‘é&caﬂﬂ el cavol Yz £ 8 tshen %_é-cg_{.%'

A Al
f_.fi,,'“-fl———”if—- .
Al | v
Avea = L_( Uhfwl o) dé- Eg.m&w .
Al -
Cs»@fwﬁag';ﬂ Y fuhu'ﬁs)
&= -~ L Al 9 M’#Ma AN
f (it Sk + 2o &/‘/}a@@ C242).
K],




. | . ‘ e
paa‘%yé'f{(,( /fxa/) ‘6/1.«-.0& /ﬂf?w-/é’j 454 ("?Cf/ "_;\) a-«f-’c Jg(‘“7)/;,2)'
WL.J v /ﬁg (e Jecron c?? V/ I /I??A&r& Ll 5 — fbé?-wé}

%gog The. Cenbre g %AVQ. mz’,@ be. fe Magéwwé
J; a8 el a0 P ¢ grrPoieled (*3;%70).

e Aphtre o e obifance

bebween A i o Bl (&M@{_ (F v ﬂwg év,fg

So  equatin: G wr
: (‘){_ +,7/ -+ Qﬁ .,_5#"}/)2,,’{- }L: gz- C/)

[ barmech d? s AP wrile e

To bk | .
xy — plave > WS et e i)y el
L)(’f'}) —+ Q_—-—ré)’-—]b}g,: ng?— o

: |

(xt3) + 5 =t4)

Z/Jﬁl,(‘og- Tzf?/gf)eué’/k a
m*/‘é; CQBI{Q <’370;0> M’( f)/qg&_mo é/ ;

crele w ke x 3 M

/_—__'

Codve = A
MW@&(:—'Q
E gurhbron = 2

j_‘wfj,g('léé"d\/v z 2

IW[WQ‘P&M = i




] i e

p<€j S JL:{# 5

QL0
/ﬁ
i
& K_?') "‘) 5) E-\%g | )

QP x @t = |&pl ]y 2l s
d\m/ - IR s
. \@‘F‘A&K\ :—\Q\K\SL

GJP/K@\K = __’L\"‘Fs
1Qe)

e |
AR =60, 6, 15 =<3 1,22
@ T—<I-"/Z-) ,]}-—(’ﬁ\)) 1,’5> = 4_. \)Z) _2> \ ?’*5

\ Qs

3 e : v ..
,H\I?;)_ ”_Z.‘z, - ?l-_‘?-\ \» \\)*\\a\\
= 2048 47k &

so |@pant ) = (T 41 = (aredra EVITERN
@R = (Tafos - (A =0 1
o
_5 — S a

?—x@lff -




Q.E Find Cartesian equation of the curve whose polar equation is given as: r = secf — csct.

i1 _sinB—cosB @
@

Sol: 1= cos@ sin@  sinBcosd

O,

rsinfcos@ = sind — cos6

rsinf rcosf = rsinf — rcos6
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